Suppose you deposit $10,000 for 2 years at a rate of 10%.

a) 
Calculate the return (A) if the bank compounds annually (n = 1). Round your answer to the hundredth's place.


If a bank compounds continuously, then the formula takes a simpler, that is 
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where e is a constant and equals approximately 2.7183.
Calculate A with continuous compounding. Round your answer to the hundredth's place.


Answer:



Show work in this space
A=(10,000)(2.7183)e^.10^2 I have the answer to the top part and this is what I have come up with for this one for the problem, but I am lost.
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